dAHX 08

PAIEZ

EX|
o
¢ IEE Pd5l= BE2 22 6 TIE,
& SEE EIO[ESH| HE, ATEsH 22l6k=s A 2 3, i 2AZ 2EFA|, 2ot SIS AAlsks Joint 71s B4
& BHO| & ZXHZ AZsi0], 17|HES B |5k & miZo] milz|de| H|E,
¢ PA +F/G (E2[0l0|E) £XIE BF iHE.
A
Sk
AEA A=37|
A22EH c 0~60
ESNE MPa 09
BN INEEE kPa -100
NEEH E0|RE FE
7) Al Y22 2 20cYnlel ZHILich
£Z No, 229 THE
©) 2ig|A 2 PA+F/G (Ez/oj0|E)
@ 710|= O CIO|FHAE
©) =z SUS (AHIZA)
@ 0 NBR (LIE2|12)
® = PA+F/G (B2lota|=)
® o ofRiE 25
@ il 2] NBR (LIEZ 1)
HEE Of1 CHO|FHAE
HAS
X EHIH
TEeHE ) 22 FAERI= 104U
WPC 06 - 01 M5: | M5X08] 01: | R1/8
02: | R1/4 03: R 3/8
04: i
58 S 9
WPA: Hedx WPUC: | |2 04: | 4mm 10: 10mm
WPC: | TIA7A4E WPUL: | RU= A= 06: | 6mm | 12: 12mm
WPG: | 0|F gLI2 WPUT: | |LIeT 08: | 8mm
WPGJ: | BIEA] WPUG: | 0lF |U_T -
WPH: stz WPW: | 0|Z& SL_y
WPL: | Y e WPWJ: | 0 H2IX| FLIRY
WPLGJ | 0]Z & 74iE] WPWT: | HY =H2IXlY
WPLJ: | 2l 7{ulE] WPY: | euey
WPOC: | SZERA HY A4 | WPYJ: | B3X| |LURY
WPT: | oY 23ix|E|

509



WP

U _ gaizes yuriuE -
, R =zt , R Azt
N A B c | oo | H ) o = A B c | oo | H o | wi | o
WPCO4-M5 40 | 201 | 145 80 M5X08 45 WPOCOIWE | 40 | 201 | 145 | 20 | 82 | M08 | 42
WPC04-01 80 | 201 | 145 | 4 | 100 RI/8 86 WPOC04-01 | 80 | 201 | 145 30 | 100 | Rij8 80
WPC04—-02 10 | 201 | 145 140 RI/4 173 WPOCOBM5 | 40 | 218 | 155 20 | 110 | w08 | 72
WPCOB-M5 40 | 218 | 155 110 V5X08 83 WPOCO6-01 | 80 | 220 | 155 | 6 40 | 10 | R 86
WPC06-01 80 | 220 [ 165 | . [ 110 RI/8 92 WPOC06-02 | 110 | 228 | 155 40 | 135 | R4 168
WPC06-02 10 | 228 | 155 120 RI/4 182 WPOC0B-01 | 80 | 27.7 | 178 50 | 130 | Ri/s 131
WPC06-03 120 | 228 | 155 170 R3/8 284 WPOC0B-02 | 110 | 257 | 178 | 8 60 | 135 | R4 155
WPC08-01 80 | 277 | 178 130 RI/8 137 WPOC08-03 | 120 | 237 | 178 60 | 170 | Rr38 259
\WPC08—02 110 | 257 | 178 | 8 | 140 RI/4 7.1 WPOC10-01 | 80 | 204 | 194 50 | 155 | Ri/8 180
\WPC08—03 120 | 237 | 178 170 R3/8 213 WPOC1002 | 110 | Gea | 194 | [ 60 | 155 | R 233
WPC 10-01 80 | 204 | 194 170 RI/8 22 WPOC 10-03 | 120 | 284 | 194 80 | 170 | ReB 217
WPC 10-02 10 | sea | 104 | o [170 RI/4 216 WPOC 10-04 | 150 | 273 | 194 80 | 210 | RIp2 467
WPC 10-03 120 | 284 | 194 170 R3/8 293 WPOC 12-02 | 110 | 354 | 224 60 | 188 | Ri/a 297
WPC 10-04 150 | 273 | 194 210 RIJ2 85 WPOC 12-03 | 120 | 318 | 224 | 12 | 80 | 188 | R3B 302
WPC 12-02 10 | 354 | 224 190 RI/4 U2 WPOC 12-04 | 150 | 338 | 224 80 | 210 | R 506
WPC 12-03 120 | 318 | 224 | 12 | 190 R3/8 35
WPC 12-04 150 | 338 | 224 210 RI/2 548 Y 22X[T —
H
mm
A A B c | @ | E H | op (4_5 0 %Ef A A B c | oo | E H | op (4_5 A TES’F
WPLO4M5 | 40 | 146 | 145 170 | 90 | 90 |M5X08| 39 WPTOAM5 | 40 | 166 | 145 171 | 90 | 90 | M5X08| 62
WPLOA-01 | 80 | 178 | 145 | 4 | 171 | 100 | 90 | Ri8 | 48 WPTO4-01 | 80 | 198 | 145 | 4 | 171 | 100 | 90 | Ri/8 | 84
WPLO402 | 110 | 208 | 145 171 | 140 | 90 | R4 | 68 WPTO4-02 | 110 | 228 | 145 171 | 140 | 90 | R4 | 158
WPLOGM5 | 40 | 157 | 155 180 | 90 | 112 | M5x08| 73 WPTO6M5 | 40 | 177 | 165 180 | 90 | 112 |M5X08| 77
WPLOG01 | 80 | 189 | 155 | . [ 180 | 100 | 12 | RiB | 76 WPT06-01 | 80 | 209 | 165 | |, [180 [ 100 | 112 | Ry8 | 95
WPLOG-02 | 110 | 219 | 155 180 | 140 | 112 | R4 | 150 WPTO6-02 | 110 | 239 | 155 180 | 140 | 112 | R4 | 173
WPLOG-03 | 120 | 229 | 155 180 | 170 | 112 | R38 | 224 WPTO6-03 | 120 | 249 | 155 180 | 170 | 112 | Ry8 | 247
WPLOB-01 | 80 | 203 | 178 236 | 100 | 136 | RI/8 | 84 WPTO8-01 | 80 | 235 | 178 236 | 100 | 136 | RI/8 | 145
WPLOB-02 | 110 | 228 | 178 | 8 | 236 | 140 | 136 | Ri/4 | 159 WPTOB-02 | 110 | 260 | 178 | 8 | 236 | 140 | 136 | R4 | 213
WPL0B-03 | 120 | 238 | 178 236 | 170 | 136 | R3B | 225 WPT08-03 | 120 | 270 | 178 236 | 170 | 136 | Ry8 | 289
WPLI0-01 | 80 | 236 | 194 250 | 170 | 163 | Ri/8 | 182 WPTI0-01 | 80 | 258 | 194 250 | 170 | 163 | Ri8 | 222
WeLI0-02 | 110 | 266 | 194 | [ 250 | 170 | 163 | Rija | 202 WPTI0-02 | 110 | 288 | 194 | [ 250 | 170 | 163 | Ria | 257
WPLI0-03 | 120 | 261 | 194 250 | 170 | 163 | R38 | 228 WPTI0-03 | 120 | 283 | 194 250 | 170 | 163 | R3/8 | 283
WPL10-04 | 150 | 201 | 194 250 | 210 | 163 | RI2 | 375 WPTI0-04 | 150 | 313 | 194 250 | 210 | 163 | R1/2 | 430
WPL12-02 | 110 | 285 | 224 22 | 170 | 197 | Ri/4 | 267 WPTI2-02 | 110 | 305 | 224 322 | 170 | 197 | Ri/4 | 364
WPL12-03 | 120 | 280 | 224 | 12 | 322 | 170 | 197 | R3/8 | 284 WPT12-03 | 120 | 300 | 224 | 12 | 322 | 170 | 197 | R3/8 | 390
WPL12-04 | 150 | 310 | 224 22 | 210 | 197 | Ri2 | 431 WPTI2-04 | 150 | 330 | 224 22 | 210 | 197 | Ri/2 | 537
= =
o =Ex| Y _ auzwx _
BN AlBs|c| oo |gdF|H|y]|er]| R |22 sy | A |t |B2|Cc| oD |E|c|H|ok|lor| R |2
B LA | (@ < LA | (@
WPWTO4M5 | 40 | 374 | 145 32 [132] 90 | 93 | 90 | M5x08 | 89 WPHO4-M5 | 35 | 178 | 101 | 145 195| 25 | 80 | 100 90 |M5%08| 70
WPWTOZ—01 | 80 | 406 | 145 | 4 |32 |132]100] 93| 90 | Ri/8 | 116 WPHO4-01 | 80 | 265 | 168 | 145 | 4 |215] 25 |130]140] 90 | Ri/8 | 147
WPWT0402 | 110 | 436 | 145 32 [132]140] 93 | 90 | Ri/4 | 205 WPH04-02 | 110 | 340 | 220 | 145 240 30 [170190| 90 | Ri/4 | 270
WPWT06-M5 | 40 | 405 | 155 32 | 141|110 114 112 | M5x08 | 129 WPHO6-M5 | 35 | 178 | 106 | 165 205| 25 | 80 | 100 112 |M5X08| 78
WPWI0B-01 | 80 | 487 [ 155 | . [82 [1ai[ti0[tial 12 | Ry | 05 WPH06-01 | 80 | 265 168 155 | |, [225[ 25 [1a0]1a0[ 112 | Rifs | 61
WPWT06-02 | 110 | 467 | 155 32 [141 140|114 112 | Ri/4 | 231 WPH06-02 | 110 | 340 | 220 | 155 250 30 [17.0 190 112 | Ri/4 | 287
WPWT06-03 | 120 | 47.7 | 155 32 | 141 170|114 112 | R3/8 | 352 WPHO6-03 | 120 | 398 | 253 | 155 267 | 40 |210|224| 112 | R¥8 | 514
WPWT0B-01 | 80 | 526 | 178 32 |186|130| 142 | 136 | Ri/8 | 219 WPH0B-01 | 80 | 265 | 175 | 178 256 | 25 | 130|140 136 | RI/8 | 164
WPWT0B=02 | 110 | 551 | 178 | 8 |32 |186]140|142] 136 | Ri/4 | 251 WPH0B-02 | 110 | 340 | 220 | 178| 8 |28 30 | 170|190 136 | RI/4 | 204
WPWT08-03 | 120 | 561 | 178 32 | 186|170 142 136 | R3/8 | 317 WPH0B-03 | 120 | 398 | 253 | 178 298| 40 | 210|224 136 | RY8 | 527
WPWT 10-01 | 80 | 530 | 194 42 [180] 170|170 163 | Ri/8 | 306 WPH 10-02| 11.0 | 340 | 227 | 194 289 30 170190 163 | Ri/4 | 327
WPWT 1002 | 110 | 560 | 194 |  [42 [180[170[170] 163 | R4 | 352 WPH10-03| 120 | 308 | 253.| 194 | 10 [306] 40 | 210|224 163 | R38 | 557
WPWT 10-03 | 120 | 580 | 194 42 [180|170|170] 163 | R3/8 | 408 WPH 10-04 | 150 | 448 | 288 | 194 329 50 | 240|270 163 | RI/2 | %07
WPWT 10-04 | 150 | 610 | 19.4 42 [180]210] 170 163 | Ri/2 | 598 WPH 12-0] 120 [ 398 | 267 | 224 | . |359] 40 |210]224] 197 | Ry | 676
WPWT 12-02 | 110 | 659 | 224 42 [239]190]200| 197 | Ri/4 | 537 WPH 12-04| 150 | 448 | 207 | 224 32| 50 | 240|270 197 | RI/2 | 928
WPWT 12-03 | 120 | 669 | 224 | 12 | 42 |239]190]200] 197 | R3/8 | 595
WPWT 12-04 | 150 | 709 | 224 42 |239]210]200| 197 | Rif2 | 749

510



WP

o #HIxX
'
-|E — mm
=24 A B1 B2 C @D E G H J oK opP R 22
< (LIAD @
WPAO4-M5 | 35 178 10.1 145 4 18.6 25 80 9.3 10.0 9.0 M5X0.8 92
WPAO6—01 80 26.5 16.8 155 6 220 25 13.0 1.4 14.0 11.2 R1/8 184
WPA08—02 | 11.0 340 220 17.8 8 281 30 17.0 14.2 19.0 136 R1/4 46.6
WPA10-02 11.0 34.0 227 19.4 10 275 30 170 17.0 19.0 16.3 R1/4 720
WPA10-03 | 120 398 253 194 206 40 210 17.0 224 16.3 R3/8 76.7
WPA12-04 | 150 448 297 224 12 349 50 240 20,0 270 19.7 R1/2 1180
oLl o | ol
I I-_ mm T I._ = mm
_ Rl - Rl
BA| B © @D oP ng’ A B © @D @d F oP 55’
WPUC04 30.2 145 4 9.0 3.1 WPULO4 171 145 40 32 6.0 90 32
WPUC06 320 155 6 1.2 48 WPULOB 190 155 6.0 32 6.7 112 49
WPUC08 40.2 17.8 8 136 88 WPULO8 236 178 80 32 85 136 94
WPUC10 40.0 194 10 16.3 10.6 WPUL10 250 194 10.0 42 10.0 16.3 11.8
WPUC12 548 224 12 197 20.9 WPUL12 322 224 120 42 120 197 225
oLIT Q| |Y
TT II— mm TT II— mm
_ 2 - 2
= B C @D 2d E F oP ?QT = B (¢} 2D 2d F J oP Eg";’
WPUT04 34.2 145 40 32 171 6.0 9.0 46 WPY04 31.2 145 4 32 132 93 9.0 49
WPUTO06 380 1565 6.0 3.2 19.0 6.5 11.2 70 WPY06 34.7 1565 6 3.2 141 11.4 11.2 73
WPUTO08 47.2 178 80 3.2 236 9.0 136 1.1 WPY08 44.2 178 8 3.2 186 142 136 139
WPUT10 50.0 194 10.0 42 250 12.0 16.3 153 WPY10 46.0 194 10 42 18.0 17.0 16.3 17.7
WPUT12 64.4 224 12.0 42 322 14.0 19.7 298 WPY12 56.8 224 12 4.2 239 200 19.7 32.5
olzd 2L|2 olALLIR2T
18 L2 — 0|4 U= —
_ Rl - X2k
A B (0] Cc2 2 D1 @ D2 2 P1 @ P2 Eg‘)° A A B (0] C2 |@di|@d2|@D1|@D2| E G H oK ?g‘):
WPG06-04 311 1565 145 6 4 11.2 9.0 41 WPUG06-04 | 380 | 190 | 155 | 145 | 6 4 |112]90 |181|65 |60 |32 67
WPG 08-06 343 178 155 8 6 136 1.2 57 WPUG08—06 | 47.2 | 236 | 178 | 155 | 8 6 |136|112]/200| 85|80 |32 | 96
WPG10-08 382 194 178 10 8 16.3 136 9.7 WPUG10-08 | 500 | 250 | 194 | 178 | 10 8 |163|136|241]100] 95 | 42 | 166
WPG12-10 428 224 194 12 10 19.7 16.3 154 WPUG12-10 | 64.4 | 322 | 224 | 194 | 12 10 | 197 | 163 |255| 120|100 | 42 | 281

511



olzd eL| L=
EETEN _ s _
_ 2k - Zlaf
A B C1 C2 |@D1| @D2 | @d F J @P1| @P2 z‘)’ A B Ci C2 E @D1 D2 2P Eg‘)’
WPW06-04 | 325 | 155 | 145 | 6 4 32 | 182 | 93 | 112 | 90 | 50 WPGJ06-04 36.1 155 145 1.3 6 4 90 28
WPW08—04 | 37.7 | 178 | 145 | 8 4 32 | 187 | 114 | 136 | 112 | 80 WPGJ08-04 36.9 178 145 1.3 s 4 90 32
WPW08—06 | 381 | 178 | 155 | 8 6 32 | 141 | 114 | 136 | 11.2 | 143 WPGJ08-06 395 178 155 126 6 1.2 35
WPW10-06 | 426 | 194 | 155 | 10 6 32 | 172 | 142 | 163 | 136 | 228 WPGJ10-06 403 19.4 155 126 10 6 1.2 38
WPW10-08 | 432 | 194 | 178 | 10 8 32 | 178 | 142 | 163 | 136 | 148 WPGJ10-08 456 19.4 17.8 16.6 8 136 55
WPW12-08 | 505 | 224 | 178 | 12 8 42 | 176 | 170 | 197 | 163 | 331 WPGJ 12-08 46.6 224 17.8 16.6 12 8 136 6.5
WPW12-10 | 509 | 224 | 194 | 12| 10 42 | 180 | 170 | 197 | 163 | 255 WPGJ 12-10 46.6 22.4 194 15.0 10 163 73
oll FJuIE. 0]|z4 dl F{ulE:
2 7{49E — 0|13 & 7{4E| po—
X2k
A B c ) E op %‘ £ B ct c2 | got | go2 | E 2P |
WPLJ04 235 145 4 171 90 30 WPLGJ06-04 285 155 14.5 6 4 171 9.0 33
WPLJ0B 206 155 6 180 112 47 WPLGJ08-06 30.6 17.8 15.5 8 6 180 1.2 55
WPLJ0S 328 178 8 236 136 6.0 WPLGJ10-08 338 194 178 10 8 236 136 11.0
WPLJ10 362 194 10 250 163 79 WPLGJ12-10 382 224 19.4 12 10 250 16.3 17.0
WPLJ12 39.9 224 12 322 197 214
Ha{x| & 74 HE{x|
BEx| FLI2 Y 0|4 BEX|FLIZ2
mm mm
Zl2k
Al B c %D J @p %—‘j‘ =0 B ct c2 | oot | goe J opP Ti;)’
WPYJ04 378 145 4 93 920 55 WPWJ06-04 428 155 145 6 4 93 90 57
WPYJ0B 450 155 6 114 11.2 72 WPWJ08-06 455 17.8 155 8 6 1.4 1.2 7.3
WPYJO8 53.1 178 8 14.2 136 91 WPWJ10-08 53.1 19.4 17.8 10 8 142 136 91
WPYJ10 56.0 19.4 10 170 16.3 23.1 WPWJ12-10 58.0 224 19.4 12 10 17.0 16.3 24.1
WPYJ12 63.4 224 12 20.0 197 308

512





